
Exercise 11 – Shift computations for Village Creek 
 

• Using rating #1 (next page) for Village Creek, compute the shifts associated with 
the measurements listed below. Use this information to complete the table 
below. The equations below can be used to help you with the shift computations.   

 
((MeasQ – RatingQ) / RatingQ) x 100 = % diff, or 
100 ((MeasQ / RatingQ) –1) = % diff 
 
Rating GH – QmeasGH = Shift 

 
((MeasQ – adjRatingQ) / Rating Q) x 100 = % diff adjQ 
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2.52 46.6 53.2 -12.4 2.41 -0.11 0 
3.67 142      
4.35 200      
2.07 29.1      
2.40 46.8 46.00 1.7 2.41 0.01 0.4 
3.08 84.7      
2.88 80.8      
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